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Monthly Test, November- 2010

Sub : Maths, Class : VII
Time: 40 Min.
M.M : 20

Each question carries one mark.
(1) 3JaxSa= ...
(i) (a+hP= a*+ ............ o th?
(@i} The H.OFE of 3x% and 9%y 05 cvvecerevencenes
{(iv) A guadrilateral has ................ vertices.
{v) A quadrilateral has ................ diagonals.

0.3

Each question carries two marks.

(iy  Find the product of:
datb by 3a

(iiy Factorise the following binomial:
Emn+24m’

(iif) Is it possible to form a quadrilateral, whose angles are of
measures 43°%, 90°, 140°, and 1007 7 Given reason.

Each guestion carries three marks,
{i)y  The four angles of a quadrilateral are in the ratio of 1:2:3:4

Find all the four angles.
(i) Multiply (3a+4) and (52+2)

OR

Show by an activity that sum of all the angles of a quadrilateral
is 3607,
(i} Usea suitable identity to find a product,

(v+2) (¥#2)

OR

Express following experession in the form of Square of
expression & factorise:
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iy 3ax5a= ...

(i) (a+bP =a’ ...t B

(i) 3% Oy THAZ. v T

fiv) ggdaa &9 ... frug a2 a5

(v) ggagw &g ... feg¢= a% 75|

Y. 2 -8 nidt T UES :
i 4at6 & JamE =T 9
(i) 5 fodt ¥ uet T A aydtads Ja
Emn+24m’
(i) T 45 90°, 1407, 100" faw 93999 © &= J Aav
J% 7 @aE oA |
y.3 fI&-fEs wiar o yms
() foF ggegn ¥ 99 ae 1:2:3:4 ¥ migus fSg 05|
Id dF UITET |
(i) F=TET (Jatd) W (5a+2)
H
fafowr ot fAiv a9 fa ggagn e gd =t or a2
360° g2 J1
(i) SSET ATEAWIT T YT J9d dIEAES UST ad
(¥+2) (y+2)
=y
75 oy fenina o greadstass &g (Faar o gy
fég aanr &)
xHHx+9



